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BACHELOR OF EDUCATION 

Term-End Examination 

i. 	 December, 2015 

ES-363: GUIDANCE AND COUNSELLING 

Time : 3 Hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Among the various approaches to counselling, 
which approach do you prefer ? Justify your 
answer. 

OR 
Describe the relationship of career pattern with 
the five life stages of Buchler. 

2. Answer the following question in about 
600 words : 111 
Describe the role of guidance personnel in a 
school. 

OR 
"Guidance services are an integral part of the 
school." Based on this statement discuss the 
rationale for an integration between guidance and 
curriculum. 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) What is self-guidance ? To what extent is 
an average high school student capable of 
self-guidance ? 

(b) Differentiate between career pattern and 
career maturity. 

(c) Write a note on Inclusive Schooling. 

(d) List some of the prominent problems of girls' 
education. What guidance programme can 
you suggest for it ? 

(e) As a teacher, how will you handle a truant 
child in your class ? 

(f) What are the advantages and limitations of 
group counselling ? 

	

4. 	Answer the following question in about 
600 words : 

As a teacher, how will you organize a guidance 
programme in your school ? What guidance 
activities will you include for the students at 
secondary level ? 
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